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001.  If tan α =1/7, tan β =1/3, then cos 2α is equal to

 (A) sin 2β  (B) sin 4β  

 (C) sin 3β  (D) cos 2β 

002.  If tan θ  = a/b, then b cos 2θ + a sin 2θ  is 

equal to

 (A) a  (B) b

 (C) a/b (D) None

003.  The number of different four digit numbers 

that can be formed with the digits 2, 3, 4, 7 

and using each digit only once is

 (A) 120  (B) 96 

 (C) 24  (D) 100

001. ¶{X tan α =1/7, tan β =1/3, Vmo cos 2α ~am~a h¡&
 (A) sin 2β  (B) sin 4β  

 (C) sin 3β  (D) cos 2β 

002.  ¶{X tan θ  = a/b, then b cos 2θ + a sin 2θ  ~am~a 
h¡&

 (A) a  (B) b

 (C) a/b (D) BZ‘| go H$moB© Zht

003.  A§H$ 2, 3, 4 Am¡a 7 H$mo Ho$db EH$ ~ma à¶moJ H$aVo 
hþE BZgo Mma A§H$m| H$s ~Zm¶r OmgH$Zo dmbr {d{^ÝZ 
g§»¶mAm| H$s Hw$b g§»¶m h¡&

 (A) 120  (B) 96 

 (C) 24  (D) 100
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004.  The third term of a G.P. is 4, the product of 

the first five terms is

 (A) 1024 (B) 256

 (C) 324 (D) 964

005.  The coordinates of the foot of the perpendic-

ular from the point (2, 3) on the line are

 (A) (–6, 5)  (B) (5, 6) 

 (C) (–5, 6)  (D) (6, 5)

006.  Let x1, x2, x3, x4, x5 be the observations with 

mean m and standard deviation s.

  The standard deviation of the observations 

kx1, kx2, kx3, kx4, kx5 is

 (A) k + s (B) sk 

 (C) k/s  (D) s

007.  Aluminium is used for making cooking 

utensils. Which of the following properties 

of aluminium are responsible for the same?

 (i)  Good thermal conductivity

 (ii)  Good electrical conductivity

 (iii)  Ductility

 (iv)  High melting point

 (A) (i) and (ii) 

 (B) (i) and (iii)

 (C) (ii) and (iii) 

 (D) (i) and (iv)

004.  EH$ JwUmoÎma loUr H$m Vrgam nX 4 h¡, Vmo àW‘ nm±M 

nXm| H$m JwUZ’$b h¡&

 (A) 1024 (B) 256

 (C) 324 (D) 964

005.  q~Xþ (2, 3) go aoIm na ItMo J¶o b§~ Ho$ nmX q~Xþ 

Ho$ {ZX}em§H$ h¡&

 (A) (–6, 5)  (B) (5, 6) 

 (C) (–5, 6)  (D) (6, 5)

006.  ‘mZ cr{OE àojUm| x1, x2, x3, x4, x5 H$m ‘mÜ¶ ‘m’ 

Ed§ ‘mZH$ {dMcZ ‘s’ h¡, 

 Vmo àojUm| kx1, kx2, kx3, kx4, kx5 H$m ‘mZH$ 

 {dMcZ h¡: 

 (A) k + s (B) sk 

 (C) k/s  (D) s

007.  ImZm nH$mZo Ho$ ~V©Z ~ZmZo ‘| Eocw{‘{Z¶‘ H$m‘ 

AmVm h¡& Eocw{‘{Z¶‘ Ho$ H$m¡Z-go JwUY‘© BgHo$ {cE 

CZaXm¶r h¢?

 (i)  Cƒ Cî‘r¶ MmcH$Vm

 (ii)  Cƒ {dÚwV MmcH$Vm

 (iii)  VÝ¶Vm

 (iv)  Cƒ JcZm§H$

 (A) (i) VWm (ii) 

 (B) (i) VWm (iii)

 (C) (ii) VWm (iii) 

 (D) (i) VWm (iv)
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008.  An element A is soft and can be cut with a 

knife. This is very reactive to air and cannot 

be kept open in air. It reacts vigorously  

with water. Identify the element from the 

following

 (A) Mg (B) Na

 (C) P (D) Ca

009.  Which among the following alloys contain 

mercury as one of its constituents?

 (A) Stainless steel

 (B) Alnico

 (C) Solder

 (D) Zinc amalgam

010.  A student sitting on the last bench can read 

the letters written onthe blackboard but is not 

able to read the letters written in his textbook. 

Which of the following statements is correct?

 (A)   The near point of his eyes has receded 

away

 (B)  The near point of his eyes has come 

closer to him

 (C)  The far point of his eyes has come closer 

to him

 (D)  The far point of his eyes has receded 

away

008.  EH$ VËd "A' ‘wcm¶‘ h¡ VWm Cgo MmHy$ go H$mQ>m Om 

gH$Vm h¡& ¶h dm¶w Ho$ à{V AË¶{YH$ {H«$¶merb h¡ 

VWm dm¶w ‘| Iwcm Zht aIm Om gH$Vm h¡& ¶h Oc 

Ho$ gmW àM§S> A{^{H«$¶m H$aVm h¡& {ZåZ{cpIV ‘| go 

Bg YmVw H$mo nhMm{ZE-

 (A) Mg (B) Na

 (C) P (D) Ca

009.  {ZåZ{cpIV ‘| go H$m¡Z-gr {‘lmVw ‘| ‘H©$ar CgHo$, 

EH$ Ad¶d Ho$ ê$n ‘| hmoVm h¡?

 (A) ñQ>oZcog ñQ>rc

 (B) EopëZH$mo

 (C) gmoëS>a

 (D) qOH$ A‘cJ‘

010.  H$jm ‘| g~go nrN>o ~|M na ~¡R>m H$moB© {dÚmWu 

í¶m‘nQ²Q> na {cIo Ajam| H$mo n‹T> gH$Vm h¡, na§Vw 

nmR²¶ nwñVH$ ‘| {cIo Ajam| H$mo Zht n‹T> nmVm& 

{ZåZ{cpIV ‘| H$m¡Z-gm àH$WZ ghr h¡?

 (A)   {dÚmWu Ho$ ZoÌ H$m {ZH$Q> q~Xþ Cggo Xÿa hmo 

J¶m h¡

 (B)   {dÚmWu Ho$ ZoÌ H$m {ZH$Q> q~Xþ CgHo$ nmg Am 

J¶m h¡

 (C)  {dÚmWu Ho$ ZoÌ H$m Xÿa q~Xþ CgHo$ nmg Am J¶m 

h¡

 (D)  {dÚmWu Ho$ ZoÌ H$m Xÿa q~Xþ Cggo Xÿa hmo J¶m h¡
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011. Twinkling of stars is due to atmospheric

 (A) dispersion of light by water droplets

 (B)  refraction of light by different layers of 

varying refractive indices

 (C) scattering of light by dust particles

 (D) internal reflection of light by clouds

012.  Electrical resistivity of a given metallic wire 

depends upon

 (A) its length

 (B) its thickness

 (C) its shape

 (D) nature of the material

013.  A current of 1 A is drawn by a filament of 

an electric bulb. Numberof electrons pass-

ing through a cross section of the filament in 

16seconds would be roughly

 (A) 1023 (B) 1016

 (C) 1018 (D) 1020

014.  If the current I through a resistor is increased 

by100% (assume that temperature remains 

unchanged), the increase in power dissipated 

will be

 (A) 100 %  (B) 200 %

 (C) 300 %  (D) 400 %

011. Vmam| Ho$ {Q>‘{Q>‘mZo H$m H$maU h¡:

 (A) dm¶w‘§S>cr¶ Oc ~wXm| Ûmam àH$me H$m {djonU

 (B)  dm¶w‘§S>c ‘| n[adVu AndV©Zm§H$m| H$s {d{^ÝZ 

naVm| Ûmam àH$me H$m AndV©Z

 (C) dm¶w‘§S>cr¶ Yyb-H$Um| Ûmam àH$me H$m àH$sU©Z

 (D) ~mXcm| Ûmam àH$me H$m Am§V[aH$ namdV©Z

012.  {H$gr {XE JE ‘mVw Ho$ Vma H$s d¡ÚwV à{Vamo‘mH$Vm 

{Z^©a H$aVr h¡ Vma

 (A) H$s c§~mB© na

 (B) H$s ‘moQ>mB© na

 (C) H$s AmN>{V na

 (D) nXmW© H$s àN>{V na

013.  {H$gr {dÚwV ~ë~ Ho$ {’$bm‘|Q> Ûmam 1 A > cr OmVr 

h¡& {’$ë‘|Q H$s AZwàñW H$mQ>go 16 g|H$S> ‘| àdm{hV 

BcoŠQ>§m°Zm| H$s g§»¶m hmoJr cJ^J

 (A) 1023 (B) 1016

 (C) 1018 (D) 1020

014.  ¶{X {H$gr à{VamoYH$ go àdm{hV Ymam ‘| 100% 

d¥pÜX H$a Xr OmE; ¶h ‘m{ZE {H$ Vmn An[ad{V©V 

ahVm h¡ Vmo j{¶V COm©

 (A) 100 %  (B) 200 %

 (C) 300 %  (D) 400 %



8-AA ] [ 6 ] [ Contd...

ss
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss
ss
ss
ss

015. Which of the statement is incorrect?

 (A)  All green plants and blue green algae 

are producers

 (B)  Green plants get their food from organic 

compounds

 (C)  Producers prepare their own food from 

inorganic compounds

 (D)  Plants convert solar energy into chemical 

energy

016. The maximum efficiency of a screw jack is

 (A) (1 - sinφ)/(1 + sinφ)

 (B) (1 + sinφ)/(1 - sinφ)

 (C) (1 - tanφ)/(1 + tanφ)

 (D) (1 + tanφ)/(1 - tanφ)

017.  Two blocks ‘A’ and ‘B’ of masses 150 kg and 

50 kg respectively are connected by means 

of a string as shown in the below figure. The 

tension in all the three strings will be.

 (A) Same

 (B) Not Same

 (C) Either A or B

 (D) None of these

015. {ZåZ{cpIV H$WZm| ‘| go H$m¡Z-gm H$WZ ghr Zht h¡?

 (A)  g^r hao nm¡Yo Am¡a Zrco-hao e¡dmc CËnmXH$ 

hmoVo h¢

 (B)  hao nm¡Yo AnZm ^moOZ H$m~©{ZH$ ¶m¡{JH$m| go àmá 

H$aVo h¢

 (C)  CËnmXH$ ñd¶§ AnZm ̂ moOZ AH$m~©{ZH$ ¶m¡{JH$m| 

go V¡¶ma H$aVo h¡

 (D)  nm¡Yo gm¡a D$Om© H$mo amgm¶{ZH$ D$Om© ‘| ~Xc XoVo 

h¡

016. EH$ n|M O¡H$ H$s A{YH$V‘ j‘Vm h¡&

 (A) (1 - sinφ)/(1 + sinφ)

 (B) (1 + sinφ)/(1 - sinφ)

 (C) (1 - tanφ)/(1 + tanφ)

 (D) (1 + tanφ)/(1 - tanφ)

017.  Xmo ãbm°H$mo E VWm ~r OZVmH$m 150 {H$bmo Am¡a 50 

{H$bmoH«$‘e: ZrMo {XE JE {MÌ ‘| {XIm¶m J¶mOmo 

E pñQ´>¨J Ho$ ‘mÜ¶‘ go OwS>o hþE h¢& g^r VrZm| Vma ‘| 

VZmd-

 (A) EH$ g‘mZ ahoJm

 (B) EH$ g‘mZ Zht ahoJm

 (C) A ¶m B

 (D) Cnamo³V ‘| go H$moB© ^r Zht
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018.  Which of the following statement is incor-

rect?

 (A)  Force acting in the opposite direction to 

the motion of the body is called force of 

friction.

 (B)  Ratio of the limiting friction to the 

normal reaction is called coefficient of 

friction.

 (C)  Machine whose efficiency is 100% is 

known as an ideal machine.

 (D)  Velocity ratio of a machine is the ratio of 

load lifted to the effort applied.

019.  A ladder is resting on a rough ground and 

leaning against a smooth vertical wall. The 

force of friction will act

 (A) Downward at its upper end

 (B) Upward at its upper end

 (C) Zero at its upper end

 (D)  Perpendicular to the wall at its upper 

end

020.  A number of forces acting at a point will be in 

equilibrium, if

 (A) All the forces are equally inclined

 (B) Sum of all the forces is zero

 (C)  Sum of resolved parts in the vertical 

direction is zero (i.e. ΣV = 0)

 (D) None of these

018.  {ZåZ ‘| go H$m¡Z gm H$WZ JbV h¡?

 (A)  EH$ ~b eara H$s J{V go {dnarV {Xem ‘| 

A{^Z¶ Kf©U Ho$ ~b H$hm OmVm h¡&

 (B)  gm‘mÝ¶ à{V{H«$¶m Ho$ {bE gr‘ gr{‘V Kf©U Ho$ 

AZwnmV Kf©U Ho$ JwUm§H$ H$hm OmVm h¡&

 (C)  EH$ ‘erZ {OgH$s XjVm h¡ EH$ AmXe© 

‘erZ Ho$ én ‘| 100% ‘mZr OmVr 

h¡& 

 (D)  EH$ ‘erZ H$m doJ AZwnmV bmJy {H$E JE à¶mg 

Ho$ {bE CR>mE JE ^ma H$m AZwnmV h¡&

019.  EH$ gr‹T>r {H$gr Z O‘rZ na Amam‘ H$a ahr h¡ Am¡a 

EH$ {M{H$Zr I‹S>r Xrdma Ho$ {Ibm’$ PwH$md h¡& Kf©U 

~b ~b H$m¶© H$aoJm&

 (A) BgHo$ D$nar {gao na ZrMo H$s Amoa

 (B) BgHo$ D$nar {gao na D$na H$s Amoa

 (C) BgHo$ D$nar {gao na eyÝ¶

 (D) BgHo$ D$nar N>moa na Xrdma go b§~dV

020.  EH$q~Xþ na A{^Z¶ ~bm| Ho$ EH $Z§~a g§VwbZ ‘| hmo 

OmEJm, AJa

 (A) g^r ~b g‘mZ ê$n go PwHo$ hþE h¢

 (B) g^r ~bm| Ho$ ¶moJ eyÝ¶ h¡

 (C)  D$Üdm©Ya {Xem ‘| hb {H$E JE ^mJm| H$m ¶moJ 

eyÝ¶ h¡ (i.e. ΣV = 0)

 (D) BZ‘| go H$moB© ^r Zht
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021.  If an average person jogs, he produces 

14.5×103 cal/min. This is removed by the 

evaporation of sweat. The amount of sweat 

evaporated per minute (assuming 1 kg re-

quires 580×103 cal for evaparation) is

 (A) 0.25 kg (B) 2.25 kg

 (C) 0.05 kg (D) 0.20 kg

022.  An aluminium sphere is dipped into water. 

Which of the following is true?

 (A)  Buoyancy will be less in water at 0°C 

than that in water at 4°C.

 (B)  Buoyancy will be more in water at 0°C 

than that in water at 4°C.

 (C)  Buoyancy in water at 0°C will be same 

as that in water at 4°C.

 (D)  Buoyancy may be more or less in water 

at 4°C depending onthe radius of the 

sphere.

023. Heat is associated with

 (A)  kinetic energy of random motion of 

molecules.

 (B)  kinetic energy of orderly motion of 

molecules.

 (C)  total kinetic energy of random and 

orderly motion of molecules.

 (D)  kinetic energy of random motion in 

some cases and kinetic energy of orderly 

motion in other.

021.  ¶{X H$moB© gm‘mÝ¶ ì¶pŠV ‘§Wa J{V go McVm h¡ Vmo 

dh 14.5×103 cal/min. Ho$ ~mînZ H$aVm h¡& ¶h 

D$î‘m ngrZo Ho$ ~mînZ go eara go {ZH$c OmVr h¡& 

¶h ‘mZVo hþE {H$ 1 kg ngrZo Ho$ dmînZ Ho$ {cE 

580×103 cal Mm{hE V~ à{V {‘ZQ> dmpînV ngrZo 

H$m n[a‘mU h¡

 (A) 0.25 kg (B) 2.25 kg

 (C) 0.05 kg (D) 0.20 kg

022.  {H$gr Aë¶w{‘{Z¶‘ Ho$ Jmoco H$mo Oc ‘| Sw>~mo¶m J¶m 

h¡& {ZåZ{cpIV ‘| H$m¡Z-gmH$WZ gË¶ h¡?

 (A)  4°C Oc H$s VwcZm ‘| 0°C Oc ‘| CËßbmdZVm 

H$‘ hmoJr&

 (B)  4°C Oc H$s VwcZm ‘| 0°C Oc ‘| CËßbmdZVm 

A{YH$ hmoJr&

 (C)  0°C Oc ‘| CËßbmdZVm 4°C Oc H$s 

CËßbmdZVm A{YH$ hmoJr&

 (D)  4°C Oc ‘| CËßbmdZVm H$‘ ¶m A{YH$ hmoZm 

Jmoco H$s {ÌÁ¶m na {Z^©a h¡&

023. D$î‘m gå~Õ hmoVr h¡

 (A)  AUwAm| H$s ¶mX¥pÀN>H$ J{V H$s J{VO D$Om© go&

 (B)  AUwAm| H$s ì¶dpñWV J{V H$s J{VO D$Om© go&

 (C)  AUwAm| H$mo ¶mX¥pÀN>H$ Ed§ ì¶dpñWV J{V¶m| 

H$s Hw$b J{VO D$Om© go&

 (D)  Hw$N> àH$aUm| ‘| ¶mX¥pÀN>H$ J{V H$s J{VO D$Om© 

go VWm> AÝ¶ àH$aUm| ‘| ì¶dpñWV J{V H$s 

J{VO  D$Om© go&
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024.  A man squatting on the ground gets straight 

up and stand. The force of reaction of ground 

on the man during the process is

 (A) constant and equal to mg in magnitude.

 (B)  constant and greater than mg in 

magnitude.

 (C) variable but always greater than mg.

 (D)  at first greater than mg, and later 

becomes equal to mg.

025.  Which one of the following statements is 

true?

 (A)  A scalar quantity is the one that is 

conserved in a process.

 (B)  A scalar quantity is the one that can 

never take negative values.

 (C)  A scalar quantity is the one that does not 

vary from one point to another in space.

 (D)  A scalar quantity has the same value for 

observers with different orientations of 

the axes.

026.  A box has 100 pens of which 10 are defective. 

What is the probability that out of a sample of 

5 pens drawn one by one with replacement at 

most one is defective?

 (A) (0.9)5

 (B) 0.5 × (0.9)4

 (C) 0.5 × (0.9)5

 (D) (0.9)5 + 0.5 × (0.9)4

024.  O‘rZ na CH$‹Sz> ~¡R>m hþAm EH$ ì¶pŠV CR>H$a grYm 

I‹S>m hmoVm h¡& Bg à{H«$¶m ‘| ì¶pŠVna cJZo dmcm 

n¥Ïdr H$m à{V{H«$¶m  ~c
 (A)  An[ad{V©V ahVm h¡ Am¡a n[a‘mU ‘| mg  Ho$ 

~am~a hmoVm h¡&
 (B)  An[ad{V©V ahVm h¡ Am¡a n[a‘mU ‘| mg go 

A{YH$ hmoVm h¡&
 (C)  àma§^ n[adVu na§Vw n[a‘mU ‘| gX¡d mg go 

A{YH$
 (D)  àma§^ ‘| mg go A{YH$ hmoVm h¡ na§Vw ~mX ‘| mg 

~am~a hmo OmVm h¡&

025.  {ZåZ{cpIV ‘| H$m¡Z-gm H$WZ gË¶ h¡?

 (A)  A{Xe am{e dh hmoVr h¡ Omo {H$gr à{H«$¶m ‘| 

g§a{jV ahVr h¡&

 (B)  A{Xe am{e dh hmoVr h¡ {OgH$m ‘mZ H$Xm{n 

F$UmË‘H$ Zht hmo gH$Vm&

 (C)  A{Xe am{e dh hmoVr h¡ {OgH$m ‘mZ AmH$me 

‘| EH$ q~Xþ go Xÿgao q~Xþ na Zht ~XcVm&

 (D)  A{Xe am{e H$m ‘mZ Ajm| do’$ {d{^ÝZ {dÝ¶mgm| 

‘| pñWV àojH$m| Ho$ {cE g‘mZ hmoVm h¡&

026.  EH$ ~m°Šg ‘| 100 H$c‘ h¢, {Og‘| go 10 H$c‘ Iam~ 
h¢& Bg ~mV H$s àm{¶H$Vm Š¶m h¡ {H$ à{VñWm{nV Ho$ 
gmW {H$E EH$-EH$ H$aHo$ {ZH$mco JE 5 H$c‘m| Ho$ 
{H$gr Z‘yZo ‘| A{YH$ go  A{YH$ 1 H$c‘ Iam~ h¡,

 (A) (0.9)5

 (B) 0.5 × (0.9)4

 (C) 0.5 × (0.9)5

 (D) (0.9)5 + 0.5 × (0.9)4
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027.  The average of five numbers is 62. The averae 

of first two numers is 59 and that of last two 

numbers is 63. Find the third number.

 (A) 62 (B) 66

 (C) 63 (D) 64

028.  P, Q, R, S and T are consequtive even numbers 

in increasing order. The sum of R and T is 

184. Find the value of P.

 (A) 80 (B) 84

 (C) 88 (D) 86

029.  What can replace the question mark (?) in the 

following question?

 74362 x 93 = ? x 53206

 (A) 120 (B) 125

 (C) 310 (D) 130

030.  A and B can do work in 12 days, B and C in 

15 days and A and C in 20 days. In how many 

days can A,B and C together do the work?

 (A) 9 days (B) 12 days

 (C) 10 days (D) 5 days

031.  In a college, 30% students fail in physics, 

25% fail in mathematics and 10% fail in 

both. One student is chosen at random. The 

probability that she fails in physics if she has 

failed in mathematics is

 (A)  1/10 (B)  2/5

 (C)  9/20 (D)  1/3

027.  nm§M g§»¶mAm| H$m Am¡gV 62 h¡& nhbr Xmo g§»¶mAm| H$m 
Am¡gV 59 h¡ Am¡a A§{V‘ Xmo g§»¶mAm| H$m Am¡gV 63 h¡& 

Vrgar g§»¶m kmV H$a|&

 (A) 62 (B) 66

 (C) 63 (D) 64

028.  P, Q, R, S Am¡a T ~‹S>Vo hþE H«$‘ ‘| H«${‘H$ g‘ g§»¶m¶o  

h¢. R Am¡a T H$m ¶moJ 184 h¡ &  P kmV H$a| &

 (A) 80 (B) 84

 (C) 88 (D) 86

029.  {ZåZ{cpIV àíZ ‘| àíZ {MÝh (?) H$mo {H$ggo 

à{VñWm{nV {H$¶m Om gH$Vm h¡?

 74362 x 93 = ? x 53206

 (A) 120 (B) 125

 (C) 310 (D) 130

030.  A Am¡a  B EH$ H$m¶© H$mo nyam H$aZo ‘| 12 {XZ boVo h¡, B 

Am¡a C 15 {XZ Am¡a A Am¡a C 20 {XZ boVo h¡ &  A, 

B Am¡a C {‘bH$a Cg H$m‘ H$mo {H$VZo {XZmo ‘| H$aoJ|?>

 (A) 9 {XZm| (B) 12 {XZm|

 (C) 10 {XZm| (D) 5 {XZm|

031.  {H$gr ‘hm{dÚmc¶ ‘|, 30% {dÚmWu ^m¡{VH$ {dkmZ 

‘| AZwÎmrU© hmoVo h¢, 25% J{UV ‘| AZwÎmrU© hmoVo 

h¢ VWm 10% XmoZm| {df¶m| ‘| AZwÎmrU© hmoVo h¢& 

EH$ {dÚmWu ¶mX¥ÀN>¶m MwZm OmVm h¡& Bg ~mV H$s 

àm{¶H$Vm {H$ dh ^m¡{VH$ {dkmZ ‘| AZwÎmrU© h¡, ¶{X, 

dh J{UV ‘| AZwÎmrU© hmo MwH$m h¡&

 (A)  1/10 (B)  2/5

 (C)  9/20 (D)  1/3
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032.  At what rpm should a lathe be run to give a 

cutting speed of 25 m/min when turning a rod 

of diameter 32 mm?

 (A) 100 rpm (B) 160 rpm 

 (C) 200 rpm (D) 250 rpm

033. Seamless tubes are made by

 (A) piercing operation

 (B) hot forging

 (C) power rolling

 (D) none of the above

034.  Which material is used for making electric 

magnets?

 (A) Grey cast iron

 (B) white cast iron

 (C) malleable cast iron

 (D) pig iron

035.  Cemented carbide tools are not used for 

machining of which of the following?

 (A) Steel (B) Cast iron

 (C) Brass (D) Aluminium

036.  German Silver is mainly alloy of which of the 

following?

 (A) Pure Silver

 (B) Silver and Copper

 (C) Nickel, Copper and Zinc

 (D) Silver and Gold

032.  EH$ IamX H$mo {H$VZo rpm na Mbm¶m OmZm Mm{hE 

Vm{H$ 25 ‘rQ>a / {‘ZQ> H$s J{V H$s J{V go 32 {‘‘r  

ì¶mg  H$s EH$ N>‹S> H$mo Q>{ZªJ H$s Om gHo$?

 (A) 100 rpm (B) 160 rpm 

 (C) 200 rpm (D) 250 rpm

033. gr‘bog Q>çy~ {ZåZ§ Ûmam ~ZmB© OmVr h¢

 (A) ~bdoYZ

 (B) Vá ’$mo{OªJ

 (C) nmda amoqbJ

 (D) Cnamoº$ ‘| go H$moB© Zht

034.  {dÚwV Mwå~H$ Ho$ {bE {H$g nXmW©  H$mo à¶wº$ {H$¶m 

OmVm h¡

 (A) J«o H$mñQ> Am¶aZ

 (B) gµ’o$X H$mñQ> Am¶aZ

 (C) ‘o{b¶o~b H$mñQ> Am¶aZ

 (D) {nJ Am¶aZ

035.  gr‘|Q>oS> H$m~m©BS> Qy>b {ZåZ ‘| go {H$g H$s H$Q>mB© Ho$ 

{bE Cn¶wº$ Zht h¡?

 (A) ñQ>rb (B) H$mñQ> Am¶aZ

 (C) nrVb (D) Eë¶w‘r{Z¶‘

036. O‘©Z {gëda ‘w»¶ ê$n go {ZåZ H$m {‘l YmVw h¡

 (A) ewÕ Mm§Xr

 (B) Mm§Xr  Am¡a  Vm§~m

 (C) {ZH$b , Vm§~m  Am¡a OñVm

 (D) Mm§Xr  Am¡a gmoZm
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037. Copper is:

 (A) Difficult to be welded by spot welding

 (B) Easy to be welded by spot welding

 (C) Suitable for spot welding

 (D) none of the above

038.  Which of the following has lowest melting 

point?

 (A) Copper

 (B) Brass

 (C) Brazing Solder

 (D) Soft Solder

039. The oxygen cylinders are:

 (A) made by casting

 (B) made by welding

 (C) made by forging

 (D) seamless steel cylinders

040. Cast iron & steel pipes are casted by -

 (A) Die casting

 (B) True centrifugal casting

 (C) Permanent mould casting

 (D) Slush casting

041.  The increase in hardening by cold working is 

called-

 (A) Work hardening

 (B) Hot hardening

 (C) Cold hardening

 (D) Age hardening

037. Vm§~m H$m

 (A) q~Xþ dobqS>J H$aZm ‘wpíH$b h¡

 (B) q~Xþ dobqS>J H$aZm AmgmZ h¡

 (C) q~Xþ dobqS>J Ho$ {bE Cn¶wº$ h¡

 (D) BZ‘o go H$moB© ^r Zht

038. {ZåZ ‘| go {H$gH$m JbZm§H$ g~go H$‘ h¡

 (A) Vm§~m

 (B) nrVb

 (C) ~«qµOJ gmoëS>a

 (D) ‘¥Xþ gmoëS>a

039. {gqbS>a {Og‘o Am°ŠgrOZ ^ar OmVr h¡, do- 

 (A) T>bmB© Ûmam ’¡${~«Ho$Q> {H$¶o hþE hmoVo h¡

 (B) dobqS>J Ûmam ’¡${~«Ho$Q> {H$¶o hþE hmoVo h¢

 (C) ’$mo{OªJ Ûmam ’¡${~«Ho$Q> {H$¶o hþE hmoVo h¢

 (D) gr‘bog ñQ>rb {gqbS>a hmoVo h¡

040. T>bdm bmoho Am¡a BñnmV H$s nmBn T>mbr OmVr h¡-

 (A) S>mB© T>bmB© Ûmam

 (B) gË¶ CnH|$Ðr¶ T>bmB© Ûmam

 (C) ñWmB© T>m§Mm  T>bmB© Ûmam

 (D) ñbe T>bmB© Ûmam

041. R>ÊS>m énU àH«$‘ Ûmam H$R>moaVm ‘| d¥{Õ H$hbmVr h¡ -

 (A) dH©$ hmS}>qZJ

 (B) hm°Q> hmS}>qZJ

 (C) H$moëS> hmS}>qZJ

 (D) EoO hmS}>qZJ
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042.  Whenever the surfaces in contact tend to 

move or move with respect to each other, 

the force of friction comes into play

 (A) only if the objects are solid.

 (B) only if one of the two objects is liquid.

 (C)  only if one of the two objects is  

gaseous.

 (D)  irrespective of whether the objects are 

solid, liquid or gaseous.

043.  Motion of a ball bearing inside a smooth 

curved bowl, when released from a point 

slightly above the lower point is

 (A) simple harmonic motion.

 (B) non-periodic motion.

 (C)  periodic motion and simple harmonic 

motion.

 (D) periodic but not S.H.M.

044.  Which of the following statements is 

incorrect?

 (A)  Friction acts on a ball rolling along the 

ground.

 (B)  Friction acts on a boat moving on 

water.

 (C)  Friction acts on a bicycle moving on a 

smooth road.

 (D)  Friction does not act on a ball moving 

through air.

042.  O~ EH$-Xÿgao Ho$ g§nH©$ ‘| AmE hþE n¥ð> gmnoj J{V 

H$a| ¶m J{V H$aZo H$s àd¥{Îm aI| Vmo Kf©U ~c

 (A) Ho$db V^r H$m¶© H$aVm h¡ O~ dñVwE± R>mog hm|&

 (B)  Ho$db V^r H$m¶© H$aVm h¡ O~ XmoZm| dñVwAm| ‘| 

go EH$ Ðd hmo&

 (C)  Ho$db V^r H$m¶© H$aVm h¡ O~ XmoZm| dñVwAm| ‘| 

go EH$ J¡gr¶ hmo&

 (D)  Bg na {Z^©a Zht H$aVm {H$ dñVwE± R>mog, Ðd 

¶m J¡gr¶ h¢&

043.  {H$gr Kf©U a{hV d{H«$V ß¶mcr Ho$ A§Xa O~ {H$gr 

~m°c{d¶[a¨J H$mo BgHo$ {ZåZV‘ q~Xþ Ho$ Oam D$na go 

N>mo‹S>m OmVm h¡ Vmo BgH$s J{V

 (A) gac AmdV© J{V hmoVr h¡&

 (B) AZmdVu J{V hmoVr h¡&

 (C)  AmdVu Ed§ gac AmdV© J{V hmoVr h¡&

 (D)  AmdVu Vmo hmoVr h¡ na§Vw gac AmdV© J{V Zht 

hmoVr

044.  {ZåZ{cpIV ‘| go H$m¡Z-gm H$WZ JcV h¡?

 (A)  ‘¡XmZ ‘| cw‹T>H$Vr J|X na Kf©U ~c cJVm h¡&

 (B) nmZr ‘| McVr hþB© Zmd na Kf©U ~c cJVm h¡&

 (C)  {MH$Zr g‹S>H$ na McVr hþB© ~mB{gH$c na 

Kf©U ~c cJVm h¡&

 (D)  hdm ‘| MbVr hþB© J|X na Kf©U ~c Zht cJVm 

h¡&
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045.  An object of mass 2 kg is sliding with a 

constant velocity of 4 m s–1 on a frictionless 

horizontal table. The force required to keep 

the object moving with the same velocity is

 (A) 32 N (B) 0 N

 (C) 2 N (D) 8 N

046.  A girl stands on a box having 60 cm length, 

40 cm breadth and 20 cm width in three ways. 

In which of the following cases, pressure 

exerted by the box will be

 (A)  maximum when length and breadth 

form the base

 (B)  maximum when breadth and width form 

the base

 (C)  maximum when width and length form 

the base

 (D) the same in all the above three cases

047.  An electric kettle consumes 1 kW of electric 

power when operated at 220 V. A fuse wire of 

what rating must be used for it?

 (A) 1 A (B) 2 A

 (C) 4 A (D) 5 A

048.  The focal length of the eye lens increases 

when eye muscles

 (A) are relaxed and lens becomes thinner

 (B) contract and lens become thicker

 (C) are relaxed and lens becomes thicker

 (D) contract and lens become thinner

045.  2 kg Ðì¶‘mZ H$m H$moB©  {nÊS> {H$gr Kf©UhrZ j¡{VO 

‘oO na 4 m s–1 Ho$ {Z¶V doJ go {’$gc ahm h¡& 

Bg dñVw H$s Bgr doJ go J{V ~ZmE aIZo  Ho$  {cE 

Amdí¶H$ ~c h¡

 (A) 32 N (B) 0 N

 (C) 2 N (D) 8 N

046.  H$moB© c‹S>H$s 60 cm c§~o, 40 cm Mm¡Soµ> VWm 20 cm 

C±Mo {H$gr ~m°Šg na VrZ T>§J go I‹S>r hmoVr h¡& ~m°Šg 

Ûmam cJm¶m J¶m Xm~

 (A)  V~ A{YH$V‘ hmoJm O~ AmYa c§~mB© d Mm¡‹S>mB© 

go ~Zm h¡

 (B)  V~ A{YH$V‘ hmoJm O~ AmYa Mm¡‹S>mB© d C±MmB© 

go ~Zm h¡

 (C)  V~ A{YH$V‘ hmoJm O~ AmYa C±MmB© d c§~mB© 

go ~Zm h¡

 (D) CnamoŠV VrZm| àH$aUm| ‘| g‘mZ hmoJm

047.  H$moB© {dÚwV Ho$Vbr 220 V na àMm{cV hmoZo na 1 

kW {dÚwV epŠV Cn^wŠV H$aVr h¡& BgHo$ {cE {H$g 

AZw‘Vm§H$ Ho$ â¶yO  Vma H$m Cn¶moJ {H$¶m OmZm 

Mm{hE?

 (A) 1 A (B) 2 A

 (C) 4 A (D) 5 A

048.  ZoÌ c|g H$s n’$moH$g Xÿar ‘| d¥X²{Y hmo OmVr h¡ O~ 

ZoÌ H$s no{e¶m±:

 (A) {e{Wc hmoVr h¢ VWm c|g nVcm hmo OmVm h¡

 (B) {gHw$S>Vr h¢ VWm c|g ‘moQ>m hmo OmVm h¡

 (C) {e{Wc hmoVr h¢ VWm c|g ‘moQ>m hmo OmVm h¡

 (D) {gHw$‹S>Vr h¢ VWm c|g nVcm hmo OmVm  h¡
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049.  What is the maximum resistance which can 

be made using five resistors each of 1/5 Ω?

 (A) 1/5 Ω (B) 10 Ω

 (C) 5 Ω (D) 1 Ω

050.  The sum of the digits of a two-digit number is 

9. If 27 is added to it, the digits of the number 

get reversed. The number is

 (A) 25 (B) 72

 (C) 63 (D) 36

051. (x2 + 1)2 – x2 = 0 has

 (A) four real roots

 (B) two real roots

 (C) no real roots

 (D) one real root.

052.  If the numbers n–2, 4n –1 and 5n + 2 are in 

AP, then the value of n is :

 (A) 3 (B) 2

 (C) 1 (D) 4

053.  The point which lies on the perpendicular 

bisector of the line segment joining the points 

A (–2, –5) and B (2, 5) is

 (A) (0, 0) (B) (0, 2) 

 (C) (2, 0) (D) (–2, 0)

049.  nm±M à{VamoYH$m|, {OZ‘| àË¶oH$ H$m à{VamoY 1/5Ω  h¡, 

H$m Cn¶moJ H$aVo {H$VZm A{YH$V‘ à{VamoY ~Zm¶m 

Om gH$Vm h¡?

 (A) 1/5 Ω (B) 10 Ω

 (C) 5 Ω (D) 1 Ω

050.  Xmo A§H$m| H$s EH$ g§»¶m Ho$ A§H$m| H$m ¶moJ 9 h¡& ¶{X 

Bg‘| 27 Omo‹S>|, Vmo Bg g§»¶m Ho$ A§H$ ncQ> OmVo h¡§& 

dh g§»¶m h¡

 (A) 25 (B) 72

 (C) 63 (D) 36

051. g‘rH$aU (x2 + 1)2 – x2 = 0 

 (A) Ho$ Mma dmñV{dH$ ‘yc h¢ 

 (B) Ho$ Xmo dmñV{dH$ ‘yc h¢

 (C) Ho$ H$moB© dmñV{dH$ ‘yc Zht h¢ 

 (D) H$m EH$ dmñV{dH$ ‘yc h¡

052.  ¶{X g§»¶mE± n–2, 4n –1 Am¡a 5n + 2 {H$gr AP ‘|  

h¢ Vmo n H$m ‘mZ hmoJm&

 (A) 3 (B) 2

 (C) 1 (D) 4

053.  q~XþAm|  A (–2, –5) Am¡a B (2, 5) H$mo {‘cmZo dmco 

aoImI§S> Ho$ c§~ g‘{Û^mOH$ na pñWV EH$ q~Xþ h¡ 

 (A) (0, 0) (B) (0, 2) 

 (C) (2, 0) (D) (–2, 0)
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054.  If the points A (1, 2), O (0, 0) and C (a, b) are 

collinear, then

 (A) a = b (B) a = 2b

 (C) 2a = b (D) a = –b

055.  If sinθ – cosθ = 0, then the value of 

(sin4 θ + cos4 θ) is

 (A) 1 (B) 3/4

 (C) 1/2 (D) 1/4

056.  To divide a line segment AB in the ratio 

5:7, first a ray AX is drawn so that ∠BAX 

is an acute angle and then at equal distances 

points are marked on the ray AX such that the 

minimum number of these points is

 (A) 8 (B) 10

 (C) 11 (D) 12

057.  If the perimeter of a circle is equal to that of 

a square, then the ratio of their areas is

 (A) 22 : 7 (B) 14 : 11

 (C) 7 : 22 (D) 11: 14

058.  Twelve solid spheres of the same size are 

made by melting a solid metallic cylinder of 

base diameter 2 cm and height 16 cm. The 

diameter of each sphere is

 (A) 4 cm (B) 3 cm

 (C) 2 cm (D) 6 cm

054.  ¶{X q~Xþ A (1, 2), O (0, 0) Am¡a C (a, b)  g§aoI 

h¢, Vmo

 (A) a = b (B) a = 2b

 (C) 2a = b (D) a = –b

055.  ¶{X sinθ – cosθ = 0 h¡ Vmo  

(sin4 θ + cos4 θ)  H$m ‘mZ h¡

 (A) 1 (B) 3/4

 (C) 1/2 (D) 1/4

056.  EH$ aoImI§S> AB H$mo 5:7 Ho$ AZwnmV ‘| {d^m{OV 

H$aZo Ho$ {cE, nhco EH$ {H$aU AX It{ME, Vm{H$ 

∠BAX  EH$ Ý¶yZ H$moU hmo Am¡a {’$a {H$aU AX na 

g‘mZ Xÿ[a¶m| na q~Xþ A§{H$V {H$¶o OmE± Vm{H$ BZH$s 

Ý¶yZV‘ g§»¶m hmoJr

 (A) 8 (B) 10

 (C) 11 (D) 12

057.  ¶{X EH$ d¥Îm H$m n[a‘mn, EH$ dJ© Ho$ n[a‘mn Ho$ 

~am~a h¡, Vmo CZHo$ joÌ’$cm| H$m AZwnmV h¡

 (A) 22 : 7 (B) 14 : 11

 (C) 7 : 22 (D) 11: 14

058.  AmYma ì¶mg 2 cm Am¡a D$±MmB© 16 cm dmco YmVw  

Ho$ EH$ R>mog ~ocZ H$mo {nKcm H$a g‘mZ‘mn  Ho$  

~mah R>mog Jmoco ~Zm¶o OmVo h¢& àË¶oH$ Jmoco H$m ì¶mg 

hmoJm

 (A) 4 cm (B) 3 cm

 (C) 2 cm (D) 6 cm
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059.  The number of possible outcomes when a 

coin is tossed 6 times is

 (A) 36 (B) 64

 (C) 12 (D) 32

060.  The two successive terms in the expansion of 

(1+x)24 whose coefficients are in the ratio 1:4 

are

 (A) 3rd & 4th (B) 4th & 5th

 (C) 5th & 6th (D) 6th & 7th

061.  If ( ) ...f x x x x x x1
2 3 99 100

= + + + + +  , 

then ( )f 1l  is equal to:

 (A) 5050 (B) 5049

 (C) 5051 (D) 50051

062. If  – 3x + 17 < – 13, then

 (A) x ∈ (10, ∞)

 (B) x ∈ [10, ∞)

 (C) x ∈ (– ∞, 10]

 (D) x ∈ [– 10, 10)

063.  A body is falling freely under the action 

of gravity alone in vacuum. Which of the 

following quantities remain constant during 

the fall?

 (A) Kinetic energy.

 (B) Potential energy.

 (C) Total mechanical energy.

 (D) Total linear momentum

059.  ¶{X EH$ {g³Ho$ H$mo 6 ~ma CN>mcm OmVm h¡ Vmo g§^d 

n[aUm‘m| H$s g§»¶m hmoJr

 (A) 36 (B) 64

 (C) 12 (D) 32

060.  (1+x)24 Ho$ àgma ‘| Xmo CÎmamoÎma nX, {OZ Ho$ JwUm§H$m| 

H$m AZwnmV 1:4  h¡, {ZåZ{cpIV h¢

 (A) Vrgam Am¡a Mm¡Wm  

 (B) Mm¡Wm Am¡a nm±Mdm§ 

 (C) nm±Mdm§ Am¡a N>R>m 

 (D) N>R>m Am¡a gmVdm

061.  ¶{X> ( ) ...f x x x x x x1
2 3 99 100

= + + + + +  , 

Vmo ( )f 1l  H$m ‘mZ h¢:

 (A) 5050 (B) 5049

 (C) 5051 (D) 50051

062. ¶{X – 3x + 17 < – 13, Vmo

 (A) x ∈ (10, ∞)

 (B) x ∈ [10, ∞)

 (C) x ∈ (– ∞, 10]

 (D) x ∈ [– 10, 10)

063.    EH$ qnS> {Zdm©V ‘| Ho$db JwéËd Ho$ AYrZ 

ñdV§ÌmVmnyd©H$ {Ja ahm h¡& BgHo$ {JaZo Ho$ Xm¡amZ 

{ZåZ{c{IV ‘| go H$m¡Z-gr am{e AMa ahVr h¡?

 (A) J{VO D$Om©

 (B) pñW{VO D$Om©

 (C) Hw$b ¶m§{ÌH$ D$Om©

 (D) Hw$b aoIr¶ g§doJ
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064.  A spring with one end attached to a mass and 

the other to a rigid support is stretched and 

released.

 (A)  Magnitude of acceleration, when just 

released is maximum.

 (B)  Magnitude of acceleration, when at 

equilibrium position, is maximum.

 (C)  Speed is minimum when mass is at 

equilibrium position.

 (D)  Magnitude of displacement is always 

maximum whenever speed is minimum.

065.  For which of the following does the centre of 

mass lie outside the body ?

 (A) A pencil 

 (B) A shotput

 (C) A dice 

 (D) A bangle

066.  The temperature of a wire is doubled. The 

Young’s modulus of elasticity

 (A) will also double.

 (B) will become four times

 (C) will remain same.

 (D) will decrease.

064.  EH$ pñn§«J H$mo {OgH$m EH$ {gam EH$ Ðì¶‘mZ go Am¡a 

Xÿgam EH$ X¥‹T> AmYma go Ow‹S>m h¡, ItMH$a N>mo‹S> {X¶m 

OmVm h¡

 (A)  ËdaU H$m n[aUm‘ A{YH$V‘ V~ hmoVm h¡ O~ 

pñà§J H$mo N>mo‹S>m OmVm h¡&

 (B)  ËdaU H$m n[aUm‘ gmå¶mdñWm ‘| A{YH$V‘ 

hmoVm h¡&

 (C)  Mmc Ý¶wZV‘ V~ hmoVr h¡ O~ Ðì¶‘mZ 

gmå¶mdñWm ‘| hmoVm h¡&

 (D)  {dñWmnZ H$m n[aUm‘ A{YH$V‘ Ho$db V^r 

hmoVm h¡ O~ Mmc Ý¶yZV‘ hmoVr h¡&

065.  {ZåZ{cpIV ‘| go {H$g qnS> H$m Ðì¶‘mZ H|$Ð CgHo$ 

~mha pñWV hmoVm h¡&

 (A) n|{gc 

 (B) em°Q>nwQ> (Jmocm)

 (C) nmgm 

 (D) My‹S>r

066.  {H$gr Vma H$m Vmn XmoJwZm H$a {X¶m OmVm h¡ Vmo BgH$m 

¶§J àË¶mñWVm JwUm§H$

 (A) ^r XmoJwZm hmo OmEJm

 (B) Mma JwZm hmo OmEJm

 (C) dhr ahoJm

 (D) KQ> OmEJm&
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067.  A copper and a steel wire of the same diameter 

are connected end to end. A deforming force 

F is applied to this composite wire which 

causes a total elongation of 1cm. The two 

wires will have

 (A) the same stress and different strain.

 (B) different stress.

 (C) the same strain .

 (D) the same stress and same strain.

068. Compressed Natural Gas (CNG) is:

 (A) propane (B) methane

 (C) ethane (D) butane

069.  More than 70 per cent of livestock population 

is found in:

 (A) Denmark (B) India

 (C) China (D) India and China.

070.  If copper is kept open in air, it slowly loses 

its shining brown surface and gains a green 

coating. It is due to the formation of

 (A) CuSO4 (B) CuCO3

 (C) Cu(NO3)2 (D) CuO

067.  g‘mZ ì¶mg Ho$ H$m°na Ed§ ñQ>rc  Ho$ Vmam| H$mo {gao go 

{gam {‘cmH$a Omo‹S>m J¶m h¡& Bgg§¶wŠV Vma na H$moB© 

{dê$nH$ ~c F Amamo{nV {H$¶m OmVm h¡ Omo Bg‘| 

1 g|Q>r‘rQ>a H$s Hw$b d¥X²{Y H$a XoVm h¡& BZ XmoZm| 

Vmam| ‘|-

 (A)  g‘mZ à{V~c hmoVm h¡ VWm {d{^ÝZ {dH¥${V 

hmoVr h¡ &

 (B) {d{^ÝZ à{V~c hmoVm h¡&

 (C) g‘mZ {dH¥${V hmoVr h¡&

 (D) g‘mZ à{V~c VWm g‘mZ {dH¥${V hmoVr h¡

068. g§nr{‹S>V àmH¥${VH$ J¡g (CNG) h¡:

 (A) àmonoZ (B) ‘rWoZ

 (C) B©WoZ (D) ã¶yQ>oZ

069.  newYZ Am~mXr H$m 70 à{VeV go A{YH$ H$hm± na 

nm¶m OmVm h¡: 

 (A) S>oZ‘mH©$ (B) ^maV

 (C) MrZ (D) ^maV Am¡a MrZ&

070.  ¶{X H$m°na H$mo dm¶w ‘| Iwcm aIm OmVm h¡, Vmo ¶h 

AnZr M‘H$scr ^yar gVh Imo XoVm h¡ VWm hao a§J 

H$s naV àmá H$aVm h¡& ¶h {H$gHo$ {Z‘m©U Ho$ H$maU 

hmoVm h¡?

 (A) CuSO4 (B) CuCO3

 (C) Cu(NO3)2 (D) CuO
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071.  The important message conveyed by the 

‘Chipko Movement’ is

 (A)  to involve the community in forest 

conservation efforts

 (B)  to ignore the community in forest 

conservation efforts

 (C)  to cut down forest trees for  

developmental activities

 (D)  government agencies have the 

unquestionable right to order destruction 

of trees in forests

072.  What will happen if deer is missing in the 

food chain given below?

 Grass → Deer → Tiger

 (A) The population of tiger increases

 (B) The population of grass decreases

 (C) Tiger will start eating grass

 (D)  The population of tiger decreases and 

the population of grass increases

073.   Which of the following is not a common 

disorder associated with digestive system?

 (A) Tetanus (B) Diarrhoea

 (C) Jaundice (D) Dysentery

074.  Plants can be grown in (Choose incorrect 

option)

 (A) soil with essential nutrients.

 (B) water with essential nutrients.

 (C)  either water or soil with essential 

nutrients.

 (D) water or soil without essential nutrients.

071.  "{MnH$mo Am§XmocZ' go {‘cZo dmcm ‘hËdnyU© g§Xoe 

H$m¡Z-gm h¡?

 (A) dZ g§ajU à¶mgm| ‘| g‘wXm¶ H$mo em{‘c H$aZm

 (B)  dZ g§ajU à¶mgm| ‘| g‘wXm¶ H$s Cnojm H$aZm

 (C)  {dH$mg H$m¶©H«$‘m| Ho$ {cE dZ  Ho$ d¥jm| H$mo 

H$mQ> S>mcZm

 (D)  gaH$mar EOo§{g¶m| H$mo {Z{d©dmX ê$n go ¶h 

A{YH$ma hmoVm h¡ {H$ do dZm| Ho$ d¥jm| H$mo H$mQ>Zo  

Ho$ {cE AmXoe Xo gH|$

072.  ZrMo Xr JB© Amhma- ûm¥§Icm ‘| go ¶{X {haZ H$mo 

{ZH$mc {X¶m OmE Vmo Š¶m hmoJm?

 Kmg → {haZ → ~mK

 (A) ~mK g‘pîQ> ‘| d¥X²{Y hmo OmEJr

 (B) Kmg g‘pîQ> KQ> OmEJr

 (C) ~mK Kmg ImZo cJ|Jo

 (D)  ~mK g‘pîQ> KQ> OmEJr Am¡a Kmg-g‘pîQ> ‘|  

d¥X²{Y hmo OmEJr

073.   {ZåZ{cpIV ‘| go H$m¡Z-gm {dH$ma nmMZ V§Ì go 

g§~§pÜV Zht h¡?

 (A) {Q>Q>Zog (B) XñV

 (C) nr{c¶m (D) no{Me

074.  BZ‘| nmXn CJ gH$Vo h¢ (JbV {dH$ën Mw{ZE)

 (A) Amdí¶H$ nmofH$ ¶wŠV ‘¥Xm

 (B) Amdí¶H$ nmofH$ ¶wŠV Oc

 (C)  Oc AWdm ‘¥Xm XmoZm| ‘| go H$moB© EH$ {Og‘| 

Amdí¶H$ nmofH$ ‘m¡OyX hmo&

 (D)  Oc AWdm ‘¥Xm {Og‘| Amdí¶H$ nmofH$m| H$m 

A^md hmo&
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075.  Which of the following is removed from our 

body by lungs?

 (A) CO2 only 

 (B) H2O only

 (C) CO2 and H2O 

 (D) Ammonia

076. Speed of sound wave in air

 (A) is independent of temperature.

 (B) increases with pressure.

 (C) increases with increase in humidity.

 (D) decreases with increase in humidity.

077.  An inflated rubber balloon contains one mole 

of an ideal gas, has a pressure p, volume V 

and temperature T. If the temperature rises to 

1.1 T, and the volume increases to 1.05 V, the 

final pressure will be

 (A) 1.1 p (B) p

 (C) less than p (D) between p and 1.1

078.  The horizontal range of a projectile fired at 

an angle of 15° is 50 m. If it is fired with the 

same speed at an angle of 45°, its range will 

be

 (A) 60 m (B) 71 m

 (C) 100 m (D) 141 m

075.   {ZåZ{cpIV ‘| go {H$gr EH$ nXmW© H$m {ZîH$mgZ 

h‘mao eara ‘| ’o$’$‹S>m| Ûmam ~hþV ~‹S>r ‘mÌm ‘| {H$¶m 

OmVm h¡? 

 (A) Ho$db CO2  

 (B) Ho$db H2O

 (C) CO2  Am¡a H2O 

 (D) A‘mo{Z¶m

076. dm¶w ‘| Üd{Z H$s Va§Jm| H$s Mmc

 (A) Vmn na {Z^©a Zht H$aVr&

 (B) Xm~ Ho$ gmW ~‹T>Vr h¡&

 (C) AmÐ©Vm ~‹T>Zo go ~‹T>Vr h¡&

 (D) AmÐ©Vm ~‹T>Zo go KQ>Vr h¡&

077.  {H$gr ’w$bo hþE a~‹S>  Ho$  Jwã~mao ‘| ^ar 1 ‘moc 

J¡g H$m Xm~ p Am¶VZ V VWm Vmn T h¡& ¶{X Vmn 

~‹T>H$a 1.1 T VWm Am¶VZ ~‹T>H$a 1.05 V> hmo OmVm 

h¡ Vmo A§{V‘ Xm~ hmoJm

 (A) 1.1 p (B) p

 (C) p go H$‘ (D) p Ed§ 1.1 p Ho$ ~rM

078.  15° Ho$ H$moU na àjo{nV {H$gr àjoß¶ H$m j¡{VO 

namg 50 m h¡& ¶{X Bgo 45°  H$moU na àjo{nV {H$¶m 

OmE Vmo BgH$m namg hmoJm-

 (A) 60 m (B) 71 m

 (C) 100 m (D) 141 m
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079.  Graphite is a good conductor of electricity 

due to the presence of:

 (A) Lone pair of electrons

 (B) Free valence electrons

 (C) Cations

 (D) Anions

080.  A bimetallic strip is made of aluminium and 

steel. On heating, the strip will

 (A) remain straight.

 (B) get twisted.

 (C)  will bend with aluminium on concave 

side.

 (D) will bend with steel on concave side

081. To convert an AC generator into DC generator

 (A) split-ring type commutator must be used

 (B) slip rings and brushes must be used

 (C) a stronger magnetic field has to be used

 (D) rectangular wire loop has to be used

082.  The most important safety method used 

for protecting home appliances from short 

circuiting or overloading is

 (A) earthing

 (B) use of fuse

 (C) use of stabilizers

 (D) use of electric meter

079.  J«o’$mBQ> {H$gH$s CnpñW{V Ho$ H$maU {dÚwV² H$m 

gwMmcH$ h¡?

 (A) EH$mH$s BcoŠQ´>m°Z ¶wJc

 (B) ‘wŠV g§¶moOr BcoŠQ´>m°Z

 (C) YZm¶Z

 (D) F$Um¶Z

080.  EH$ {ÛYmVwH$ nÌr Aë¶y{‘{Z¶‘ Ed§ ñQ>rc H$s ~Zr 

h¡& Ja‘ H$aZo na ¶h nÌr-

 (A) grYr ahoJr&

 (B) ì¶md{V©V hmo OmEJr&

 (C)  Aë¶w{‘{Z¶‘ H$mo AdVc nmíd© ~ZmH$a ‘w‹S>oJr&

 (D) ñQ>rc H$mo AdVc nmíd© ~ZmH$a ‘w‹S>oJr&

081. AC O{ZÌ H$mo DC O{ZÌ ‘| n[ad{V©V H$aZo  Ho$ {cE

 (A)  {d^ŠV dc¶ {XH$n[adV©H$ H$m Cn¶moJ {H$¶m 

OmVm h¡

 (B) gnu dc¶m| Ed§ ~«wem| H$m Cn¶moJ {H$¶m OmVm h¡

 (C)  A{YH$ à~c Mw§~H$s¶ joÌ H$m Cn¶moJ {H$¶m 

OmVm h¡ 

 (D)  Vma Ho$ Am¶VmH$ma nme H$m Cn¶moJ {H$¶m OmVm 

h¡

082.  Kaocy gmpÜÌm| H$mo cKwnWZ AWdm A{V^maU go ~MmZo  

Ho$  {cE Cn¶moJ {H$¶m OmZo dmcm gdm©pÜH$ ‘hËdnyU© 

gwajm Cnm¶ Š¶m h¡?

 (A) ^ygånH©$Z

 (B) â¶yO H$m Cn¶moJ

 (C) ñQ>¡{~cmBOa H$m Cn¶moJ

 (D) {dÚwV ‘rQ>am| H$m Cn¶moJ



8-AA ] [ 23 ] [ P.T.O.

ss
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss
ss
ss
ss

083.  A short pulse of white light is incident from 

air to a glass slab at normal incidence. After 

travelling through the slab, the first colour to 

emerge is

 (A) blue. (B) green.

 (C) violet. (D) red.

084.  A glass full of hot milk is poured on the table. 

It begins to cool gradually. Which of the 

following is not correct?

 (A)  The rate of cooling is constant till 

milk attains the temperature of the 

surrounding.

 (B)  The temperature of milk falls off 

exponentially with time.

 (C)  While cooling, there is a flow of heat 

from milk to the surrounding as well 

as from surrounding to the milk but 

the net flow of heat is from milk to the 

surounding and that is why it cools.

 (D)  All three phenomenon, conduction, 

convection and radiation are responsible 

for the loss of heat from milk to the 

surroundings.

085. In a permanent magnet at room temperature

 (A)  magnetic moment of each molecule is 

zero.

 (B)  the individual molecules have non-zero 

magnetic moment which are all perfectly 

aligned.

 (C) domains are partially aligned.

 (D) domains are all perfectly aligned.

083.  ídoV àH$me H$m EH$ cKw ñn§X dm¶w go H$m±M Ho$ EH$ 

ñc¡~ na cå~dV Amn{VV hmoVm h¡& ñc¡~ go JwµOaZo 

Ho$ níMmV² g~go nhco {ZJ©V hmoZo dmcm dU© hmoJm

 (A) Zrcm (B) ham

 (C) ~¢JZr (D) cmc

084.  Vá XÿY go nyU©V: ^ao {Jcmg H$mo ‘oO na C‹S>ocm J¶m 

h¡& ¶h Yrao-Yrao erVc hmoZm Ama§^ H$a XoVm h¡& 

{ZåZ{cpIV ‘| go H$m¡Z-gm {dH$ën ghr Zht h¡?

 (A)  erVcZ H$s Xa XÿY H$m Vmn n[adoe  Ho$  Vmn 

VH$ nhþ±MZo na {Z¶V ahVr h¡&

 (B)  XÿY H$m Vmn g‘¶  Ho$ gmW MaKmVm§H$s ê$n go 

KQ>Vm h¡&

 (C)  erVcZ Ho$ g‘¶, D$î‘m-àdmh XÿY go n[adoe 

‘| hmoVm h¡ Am¡a gmW hr n[adoego XÿY ‘| ^r 

hmoVm h¡, na§Vw ZoQ> D$î‘m-àdmh XÿY go n[adoe 

‘| hr hmoVm h¡ Bgr{cE XÿY R>§S>m hmo OmVm h¡&

 (D)  XÿY go n[adoe ‘| D$î‘m hm{Z  Ho$ {cE MmcZ, 

g§dmhZ Ed§ {d{H$aU VrZm| hr n[aKQ>ZmE± 

CÎmaXm¶r hmoVr h¢& 

085. H$‘ao Ho$ Vmn na {H$gr ñWm¶r Mwå~H$ ‘|

 (A)  àË¶oH$ AUw H$m Mwå~H$s¶ AmKyU© eyÝ¶ hmoVm h¡&

 (B)  g^r AcJ-AcJ AUwAm| Ho$ eyÝ¶oVa Mwå~H$s¶ 

AmKyU© hmoVo h¢ Omo nyU©V: g§aopIVhmoVo h¢&

 (C) Hw$N> S>mo‘oZ A§eV: g§aopIV hmoVo h¢&

 (D) g^r S>mo‘oZ nyU©V: g§aopIV hmoVo h¢&
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086.  Electrical energy is transmitted over large 

distances at high alternating voltages. Which 

of the following statements is not correct?

 (A)  For a given power level, there is a lower 

current.

 (B) Lower current implies less power loss.

 (C) Transmission lines can be made thinner.

 (D)  It is easy to reduce the voltage at 

the receiving end using step-down 

transformers.

087. The Electric field at a point is

 (A) always continuous.

 (B)  continuous if there is no charge at that 

point.

 (C)  discontinuous only if there is a negative 

charge at that point.

 (D)  discontinuous if there is a no charge at 

that point.

088.  The conductivity of a semiconductor increases 

with increase in temperature because

 (A)  number density of free current carriers 

increases.

 (B) relaxation time increases.

 (C)  both number density of carriers and 

relaxation time increase.

 (D)  number density of current carriers 

increases, relaxation time decreases

086.  {dÚwV D$Om© H$m {demc Xÿ[a¶m| VH$ àofU Cƒ 

àË¶mdVu dmoëQ>VmAm| na {H$¶m OmVm h¡& Bg g§~§Y ‘| 

{ZåZ{cpIV ‘| go H$m¡Z-gm àH$WZ AgË¶ h¡?

 (A)  {H$gr {XE JE epŠV ñVa Ho$ g§JV àdm{hV 

Ymam {ZåZ hmoVr h¡&

 (B)  Ymam {ZåZ hmoZo H$m AW© epŠV j¶ H$‘ hmoZm 

h¡&

 (C)  àofU  Ho$ {cE nVco Vmam| H$m Cn¶moJ {H$¶m Om 

gH$Vm h¡& 

 (D)  J«mhr Ho$ÝÐ na AnMm¶r Q´>m§g’$m°‘©a H$m Cn¶moJ 

H$aHo$ dmoëQ>Vm H$‘ H$aZm AmgmZ hmoVm h¡&

087. {H$gr {~ÝXþ na {dÚwV joÌ

 (A) gX¡d g§VV hmoVm h¡&

 (B)  g§VV hmoVm h¡ ¶{X Cg {~ÝXþ na H$moB© Amdoe Z 

hmo&

 (C)  Ho$db V~ g§VV Zht hmoVm O~ Cg {~ÝXþ na 

H$moB© F$Udoe hmo&

 (D)  g§VV Zht hmoJm, ¶{X Cg {~ÝXþ na H$moB© Amdoe 

Z hmo&

088.  Vmn ‘| d¥X²{Y go {H$gr AY©MmcH$ H$s MmcH$Vm ‘| 

d¥X²{Y H$m H$maU ¶h h¡ 

 (A)  {H$ ‘wŠV YmamdmhH$m| H$m g§»¶m KZËd ~‹T> 

OmVm h¡

 (B) {dlm§{V H$mc ~‹T> OmVm h¡

 (C)    g§»¶m KZËd VWm {dlm§{V H$mc XmoZm| ~‹T> OmVo 

h¢

 (D)  YmamdmhH$m| H$m g§»¶m KZËd ~‹T> OmVm h¡ Am¡a 

{dlm§{V H$mc KQ> OmVm h¡
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089.  When an electric field is applied across a 

semiconductor

 (A)  electrons do not move from lower 

energy level to higher energy level in 

the conduction band.

 (B)  electrons move from higher energy level 

to lower energy level in the conduction 

band.

 (C)  holes in the valence band move from 

higher energy level to lower energy 

level.

 (D)  holes in the valence band move from 

lower energy to higher energy level.

090. For same compression ratio

 (A)  Diesel cycle has lower efficiency than 

Otto cycle

 (B)  Diesel cycle has higher efficiency than 

Otto cycle

 (C)  Diesel cycle and Otto cycle have equal 

efficiencies

 (D)  Efficiency depends upon the load on 

engine

091. The disease chikunguniya is transmitted by:

 (A) house fly

 (B) Aedes mosquito

 (C) cockroach

 (D) female Anopheles

089.  {H$gr AY©MmcH$ na H$moB© {dÚwV joÌ AZwà¶wŠV {H$E 

OmZo na-

 (A)  MmcZ ~¢S> ‘| BcoŠQ´>m°Z {ZåZVa D$Om© ñVam| go 

CƒVa D$Om© ñVam| H$s Amoa J{V Zht H$aVo h¢&

 (B)  MmcZ ~¢S> ‘| BcoŠQ´>m°Z CƒVa D$Om© ñVam| go 

{ZåZVa D$Om© ñVam| H$s Amoa J{V H$aVo h¢&

 (C)  g§¶moOH$Vm ~¢S> ‘| hmoc CƒVa D$Om© ñVam| go 

{ZåZVa D$Om© ñVam| H$s Amoa J{V H$aVo h¢&

 (D)  g§¶moOH$Vm ~¢S> ‘| hmoc {ZåZVa D$Om© ñVam| go 

CƒVa D$Om© ñVam| H$s Amoa J{V H$aVo h¢&

090. g‘mZ g§nr‹S>Z AZwnmV Ho$ {bE

 (A)  S>rOb MH«$ ‘| AmoQ>mo MH«$ H$s VwbZm ‘| H$‘ 

XjVm h¡

 (B)  S>rOb MH«$ ‘| AmoQ>mo MH«$ H$s VwbZm ‘| A{YH$ 

XjVm h¡

 (C)  S>rOb MH«$ Am¡a AmoQ>mo MH«$ ‘| g‘mZ j‘Vm h¡

 (D) XjVm B§OZ na ^ma na {Z^©a H$aVr h¡

091. {MH$ZJw{Z¶m amoJ {H$gHo$ Ûmam ’¡$bVm h¡

 (A) Ka ‘ŠIr

 (B) ES>rO ‘ÀN>a

 (C) {VbMÅ>m

 (D) ‘mXm EZmo{’${bg
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092.  Convert the binary equivalent 10101 to its 

decimal equivalent.

 (A) 21 (B) 12

 (C) 22 (D) 31

093. Which is not the function of operating system

 (A) Memory management

 (B) Disk management

 (C) Application management

 (D) Virus protection

094. BCD stands for :

 (A) Binary Coded Decimal

 (B) Bit Coded Decimal

 (C) Binary Coded Digit

 (D) Bit Coded Digit

095.  Which of the following translates and 

executes program at run time line by line?

 (A) Compiler (B) Interpreter

 (C) Linker (D) Loader

096.  An equilateral triangle of side 10 cm is 

held parallel to horizontal plane and base is 

parallel to xy reference line. What will be the 

length of line from front view?

 (A) 8.66 cm (B) 10 cm

 (C) 0 cm (D) 12.47 cm

092.  ~mBZar g‘H$j 10101 H$mo CgHo$ Xe‘bd g‘Vwë¶ 

‘| ~Xb|

 (A) 21 (B) 12

 (C) 22 (D) 31

093. H$m¡Z gm Am°naoqQ>J {gñQ>‘ H$m ’§$ŠeZ Zht h¡

 (A) ‘o‘moar à~§YZ

 (B) {S>ñH$  à~§YZ

 (C) EßbrHo$eZ   à~§YZ

 (D) dm¶ag àmoQ>oŠeZ

094. BCD H$m ‘Vb~ h¡:

 (A) ~mBZar H$moS>oS> S>ogr‘b

 (B) {~Q> H$moS>oS> S>ogr‘b

 (C) ~mBZar H$moS>oS> A§H$

 (D) {~Q>H$mo{S>VA§H

095.  {ZåZ{bpIV ‘| go H$m¡Z àmoJ«m‘ H$m AZwdmX Am¡a 

{H«$¶mÝd¶Z n§{º$ Xa n§{º$ aZ Q>mB‘ Ho$ g‘¶ na H$aVm 

h¡?

 (A) g§H$bH$ (B) B§Q>aàoQ>a

 (C) qbH$a (D) bmoS>a

096.  EH$ g‘~mhþ {Ì^wO {OgH$s gmBS> 10 go‘r h¡ CgH$mo 

j¡{VO Vb Ho$ g‘mZm§Va aIm OmVm h¡ Am¡a AmYma 

xy g§X^© aoIm Ho$ g‘mZm§Va hmoVm h¡& gm‘Zo Ho$ Ñí¶ go 

bmBZ H$s b§~mB© {H$VZr hmoJr ?

 (A) 8.66 go.‘r. (B) 10 go.‘r.

 (C) 0 go.‘r. (D) 12.47 go.‘r.
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097.  Which is the wrong statement regarding 

dimensions?

 (A)  Every dimension must be given, but 

none should be given more than once

 (B)  Every dimension should be written to 

the left side of the drawing

 (C)  Dimensions should be placed outside 

the views

 (D)   A centre line should not be used as a 

dimension line

098.  Which of the following is correct for 1st 

angle projection?

 (A) top view lies above the front view

 (B) front view lies above the top view

 (C) front view lie left side to top view

 (D) top view lie left side to front view

099.  The minimum number of orthographic view 

required to represent a solid on flat surface is:

 (A) 1 (B) 2

 (C) 3 (D) 4

100.  The length in isometric drawing of line is 20 

cm. What is the true length of it?

 (A) 24.53cm (B) 15.46 cm

 (C) 19.31cm (D) 23.09 cm

097. Am¶m‘m| Ho$ g§~§Y ‘| H$m¡Z gm JbV H$WZ h¡?

 (A)  ha Am¶m‘ {X¶m OmZm Mm{hE, bo{H$Z {H$gr H$mo 

^r EH$ go A{YH$ ~ma Zht {X¶m OmZm Mm{hE

 (B)  ha Am¶m‘ H$mo S´>mB§J Ho$ ~mBª Amoa {bIm OmZm 

Mm{hE

 (C) {dMmam| Ho$ ~mha Am¶m‘ aIm OmZm Mm{hE

 (D)   EH$ H|$Ð aoIm H$mo Am¶m‘ aoIm Ho$ ê$n ‘| 

Cn¶moJ Zht {H$¶m OmZm Mm{hE

098.  {ZåZ ‘| go H$m¡Z gm 1 H$moU àjonU Ho$ {bE ghr h¡?

 (A) erf© Ñí¶ gm‘Zo Ho$ Ñí¶ go D$napñWV hmoVm h¡

 (B) gm‘Zo H$m Ñí¶ erf© Ñí¶ Ho$ D$na pñWV h¡

 (C)  gm‘Zo H$m Ñí¶, erf© Ñí¶ Ho$ ~mB° Am¡a pñWV 

hmoVm h¡

 (D)  erf© Ñí¶, gm‘Zo H$m Ñí¶ Ho$ ~mB° Amoa pñWV 

hmoVm h¡

099.  g‘Vb gVh na EH$ R>mog H$m à{V{Z{YËd H$aZo Ho$ 

{bE Amdí¶H$ Am°Wm}J«m{’$H$ Ñí¶ H$s Ý¶yZV‘ g§»¶m 

h¡:

 (A) 1 (B) 2

 (C) 3 (D) 4

100.  bmBZ Ho$ g‘{‘Vr¶ aoIm{MÌ H$s b§~mB© 20 go‘r h¡& 

BgH$s ghr b§~mB© Š¶m h¡?

 (A) 24.53 go.‘r. (B) 15.46 go.‘r.

 (C) 19.31 go.‘r. (D) 23.09  go.‘r.



8-AA ] [ 28 ] 

SPACE FOR ROUGH WORK / H$ÀMo H$m‘ Ho$ {b¶o OJh

ss
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss
ss
ss
ss

ss
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss 
ss
ss
ss
ss



UPSEE 2019 

PAPER-8: CODE AA* 

ANSWER KEY, Examination Date: 21-04-2019 

1 B 26 D 51 C 76 C 

2 B 27 B 52 C 77 D 

3 C 28 D 53 A 78 C 

4 A 29 D 54 C 79 B 

5 B 30 C 55 B 80 D 

6 C 31 B 56 D 81 A 

7 D 32 D 57 B 82 B 

8 B 33 A 58 C 83 D 

9 D 34 A 59 B 84 A 

10 A 35 A 60 C 85 C 

11 B 36 C 61 A 86 C 

12 D 37 A 62 A 87 B 

13 A 38 D 63 C 88 D 

14 C 39 D 64 A 89 C 

15 B 40 B 65 D 90 A 

16 A 41 A 66 D 91 B 

17 A 42 D 67 A 92 A 

18 D 43 C 68 B 93 D 

19 C 44 D 69 D 94 A 

20 C 45 B 70 B 95 B 

21 A 46 B 71 A 96 B 

22 A 47 D 72 D 97 B 

23 A 48 A 73 A 98 B 

24 D 49 D 74 C 99 B 

25 D 50 D 75 C 100 B 

 

Note: In case of any grievance, it must be reported at upseegrievance@aktu.ac.in along 

with Students Roll No., Paper Code, Question Booklet Code, Question No. and suggested 

answer with supporting documents on or before 03rd May 2019. 

*iz”u iqfLrdk Øekad AA dk iz”ui= ,oa dqath izdkf”kr dh tk jgh gSA iz”u iqfLrdk 
Øekad BB, CC rFkk  DD esa iz”uksa ,oa muds fodYiksa dk Øe ifjofrZr gS d̀i;k rn~uqlkj 
mRrj feyku djsaA 

 


